BbiBectu obLyto hbopmyny m3 peKyppeHTHOMU A5 N
MHOXXECTB B OOLLEM M0JI0XKEHUMN

PUCYHOK 4 MHOXECTB

Ha CKOMNbKO YacTewn OenAT NNocKOCTb N N(n)=N(n-1)+2(n-1)=N(n-2)+2(n-2)+2(n-1)=

OKPY>XHOCTEN B OBLLEM NOSTOXKEHUN =N(n-3)+2(n-3)+2(n-2)+2(n-1)=...=N(1) +

1)-2 +2(1) + 2(2) + 2(3) +...+2(n-3)+2(n-2)+2(n-1)=

2)-4 =2 + 2[142+3+...+(n-3) + (n-2) +(n-1)] =

3)-8 =2 + 2[1+(n-1)](n-1)/2 = 2 + [1+(n-1)](n-1)=

4) - 14 - rmnoTesa =2 + (n-1)(n-1)+(n-1)=2 + n*2-n-n+1+n-1= B1
=n’2-n+2 < 2"n A2

npu n=1 N(1)=2

Ha 2 (a1+an)*n/2

npu n=2 N(2)=4 B2

Ha 4

npn n=3 N(3)=8 A1

Ha 6

npn n=4 N(4)=14
d=2n

PEKKYPEHTHOE COOTHOLLEHUE
N(n+1)=N(n)+2n

N(n)+2n




